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Question  

The average velocity of a body moving with uniform acceleration travellling a distance 2 m is 3m/s 

if change in velocity is 0.18m/s find acceleration  

 

Solution  

Avarage velocity  

𝑣 =
𝑣𝑖+𝑣𝑓

2
= 3𝑚 𝑠⁄ ,                                                           (1) 

where 𝑣𝑖and 𝑣𝑓are initial and final velocity on this distance. 

Change of velocity  

𝛥𝑣 = 𝑣𝑓 − 𝑣𝑖 = 0.18𝑚 𝑠⁄ .                                                       (2) 

From this two equation we find  

𝑣𝑖 = 2.91𝑚 𝑠⁄ ; 
𝑣𝑓 = 3.09𝑚 𝑠⁄ . 

Acceleration can be found from the formula  

𝑎 =
𝑣𝑓
2 − 𝑣𝑖

2

2𝑆
=
3.092 − 2.912

2 ⋅ 2
= 0.27𝑚𝑠−2. 

Answer: 𝑎 = 0.27𝑚𝑠−2. 
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